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1: 01 BEEECOBEIZEDILVDEIESTHELEL=M . Q1 What was the percentage of your attendance
in the course? [ BIRK: 4 HFIR 1]

BEES BES AR s | 2FTYR
1 1. 100-90% 997 4 3.8
2 2. 80-70% 168 3
3 3. 60-50% 25 2
4 4. Less than 50% 16 1
a&t 1,206

2: M2 Hitf=1E, COBEIEAETICHEBELEBISIEZENALSVTT D, Q2 What was the percentage of your
punctual attendance in the course? [ :BIR=X: 4 HiR 1]

EEES [EE=3 AR Ealilad LFEHNR
1 1. 100—-90% 1,005 4 3.8
2 2. 80—70% 146 3
3 3. 60-50% 39 2
4 4. Less than 50% 12 1
a&t 1,202
3: M3 BEICITEAMICHRYMAELI=HM. Q3 You actively participated into the course. [ BN : 4 HFIR 1 ]
EEES [EE=3 AR Ealilad LFEHNR
1 1. I58<Z 585 I(Strongly Agree) 564 4 34
2 2. 12585 1(Agree ) 543 3
3 3. 5B 7L I(Disagree) 80 2
4 4. [ FES1={ZF 5B 0%\ I(Strongly Disagree) 16 1
a&t 1,203

4: 4 BREANDERF.ZREDIZA=Hr—23 % EYFEL=H . Q4 You communicated with the lecturer(s) by
asking some questions or other in the course. [ EBIR=K: 4 FEIR 1]

mEES =R A# Eaalil=t 2R R
1 1. [58<Z 585 I(Strongly Agree) 439 4 32
2 2. 2585 1(Agree ) 571 3
3 3. 25 B 7L\ I(Disagree) 153 2
4 4. TE>1={F5 B H70\I(Strongly Disagree) 35 1
a&t 1,198

5: 5 BEODEM#EMRELLLFEL=D. Q5 You made good preparations

about the course. [ ZR

H:4FR1])
BEES [EE= A il R L£FENR
1 1. [58<Z 585 I(Strongly Agree) 428 4 31
2 2. 2585 1(Agree ) 541 3
3 3. 5B 7L I(Disagree) 188 2
4 4. T FES1={ZF5B D%\ I(Strongly Disagree) 42 1
a&t 1,199

6: 6 IBEDEEELLELZD, Q6 You made reviews wel

| about the course. [ ERT: 4 FHiR 1]

EEES [EE= A# s | £FFENR
1 1. [88<ZF 585 I(Strongly Agree) 357 4 3
2 2. 12585 1(Agree ) 569 3
3 3. [Z5B 7L\ |(Disagree) 238 2
4 4. TE-={F5 B H%L |(Strongly Disagree) 39 1
=L 1,203




7:07 VINRET.EBEOBN, AR, EFTMOEREELE LI RINEL-H, Q7 The objective, contents,
criteria for the grades were appropriately shown in the syllabus or other. [ iRz : 4 FHR 1]

B&EES Bk A iR LFEYNR
1 1. I58<Z 585 I(Strongly Agree) 583 4 34
2 2. 12585 1(Agree) 555 3
3 3. 25 B 7L I(Disagree) 55 2
4 4 TFE>1={ZF5 B H7%0\ I(Strongly Disagree) 10 1
&t 1,203

8: 8 BEDABRIIIINADABTEMIELTULVELT=H . Q8 The actual contents in the lessons were
corresponding to those in the syllabus. [ BIRZE: 4 FiR 1]

BEES EE A# s | £2FFYHR
1 1. [38<Z 525 I(Strongly Agree) 573 4 34
2 2. TZ585 I(Agree ) 582 3
3 3. [Z5 B H7VI(Disagree) 36 9
4 4. [ F-51={FS5BH7:\I(Strongly Disagree) 11 1
At 1,202

9 : 9 BERMBMIEITDICFHERINTLVEL =D, Q9 The number of lessons was appropriately maintained. [ 32
RA: 4 H/HIR1]

BEES EE= A Falilat FEHR
1 1. [58<Z 585 I(Strongly Agree) 588 4 3.4
2 2. 2585 I(Agree ) 532 3
3 3. 5B H%iL v (Disagree) 62 2
4 4. [F-51={FS5BH70\ I(Strongly Disagree) 15 1
A&t 1,197

10 : 10 BERBFOEH 5 E(LEY) T, BEMRELEMHTL/=HM . Q10 The contents was appropriate in terms of
difficulty. [ BR=: 4 FR 1]

BEES EES AE s | £2FFYHR
1 1. [58<Z 585 I(Strongly Agree) 510 4 33
2 2. TZ58 5 I(Agree ) 595 3
3 3. 2587y I(Disagree) 82 2
4 4. [F->1={F5BH70\ I(Strongly Disagree) 14 1
At 1,201

11 : B BECHELZFHMEIELZZEATWEL=D, Q11 You had already learned the necessary prior
knowledge before the course. [ (IR : 4 FIR 1]

BEES Bk AE B Rl EENR
1 1. [58<Z 585 I(Strongly Agree) 379 4 31
2 2. TZ58 5 I(Agree ) 600 3
3 3. [Z5B 7L\ [(Disagree) 185 2
4 4. [F->1={FS5BH70\ I(Strongly Disagree) 36 1
A&t 1,200

12 : {12 HELIFBEICKYMPERHEESZT, SHICEET IR HERATHEZLEBNELE=D, Q12 You
would like to study the academic field related with the course by being intellectually stimulated. [ RIR=K: 4 FHIR 1

]

BEES B AE s | £¥FYR
1 1. N58<Z 585 I(Strongly Agree) 495 4 3.3
2 2. 2585 (Agree ) 570 3
3 3. I #5B H%ilL v (Disagree) 106 2
4 4. T FE>71={F5 B H7%\I(Strongly Disagree) 29 1
A&t 1,200




13 : 13 BERNEBIFFETLI=H, Q13 The course was useful for you. [ ZEBR=H: 4 FiR 1]

B&EES Bk A iR LFEYNR
1 1. I58<Z 585 I(Strongly Agree) 634 4 35
2 2. 12585 1(Agree) 497 3
3 3. [Z5B 7Ly I(Disagree) 54 2
4 4. TFE->1={Z5B 7%\ |(Strongly Disagree) 19 1
=L 1,204

14 : F14 Bk, SRE-HHRRBEFLEATIEEDORE. ELVAEZHRMOTLI=A, Q14 The blackboard,
audio-visual and/or IT equipments were effectively used in the case (if applicable). [ B : 4 FR 1]

BEES EE A# s | 2FFYHR
1 1. [38<Z 525 (Strongly Agree) 568 4 34
2 2. TZ585 I(Agree ) 544 3
3 3. [Z5B 7L |(Disagree) 64 2
4 4. [F-51={FS5BH7:L\I(Strongly Disagree) 19 1
A&t 1,195

15 : fl15 THXRRROTVUNMIEDFHIBEM IZIBEABREEBRTLDIZR/ISFELI=H, Q15 The textbook and/or
other handouts were useful for you to understand the contents in the course. [ BIRZ: 4 FHIR 1]

BEES EE A Fialilat FEHR
1 1. [58<Z 585 I(Strongly Agree) 587 4 3.4
2 2. 2585 I(Agree ) 538 3
3 3. [Z5 B H7yI(Disagree) 56 2
4 4. [F-51={FS5BH7:0\I(Strongly Disagree) 16 1
A&t 1,197

16 : 16 /—FOAEITEYOT =TT H, Q16 [t was easy for you to take notes in the course. [ BRI : 4
FHiR1]

BEES EES AE s | £2FFYHR
1 1. [58<Z 585 I(Strongly Agree) 480 4 33
2 2. TZ585 I(Agree ) 573 3
3 3. [Z5B 7L\ [(Disagree) 123 2
4 4. [F->1={F5BH70\I(Strongly Disagree) 26 1
At 1,202

17 : 17 HEOE., ELAIZEEMYOT Mo1=TTH . Q17 It was easy for you to hear the lecturer’ s voice
and the manner of speaking. [ BIRK: 4 TR 1]

BEES Bk AE B Rl EENR
1 1. [58<Z 585 I(Strongly Agree) 635 4 35
2 2. TZ585 1(Agree ) 512 3
3 3. [Z5B 7L\ [(Disagree) 43 )
4 4. T FE>71={F5 B 7%\ I(Strongly Disagree) 12 1
A&t 1,202

18 : [18 BETEMBINZIEELEMHARBAINTILVELT=D . Q18 The lecturer(s) emphasized the important
points to be understood in the course. [ EIRK: 4 HFR 1]

BEES B AE LRl LFEYR
1 1. I58<Z 585 I(Strongly Agree) 606 4 34
2 2. TZ2585 [(Agree ) 521 3
3 3. I #5B H%ilL v (Disagree) 60 2
4 4. T FE-1={F5 B 7%\ I(Strongly Disagree) 15 1
A&t 1,202




19 : [19 BERREIZBREAOSM(REELE)ZREL, HEECHMICESITHELTOELE=D, Q19 The
lecturer(s) responded to students’ questions and/or discussions by promoting their participation. [ iRz : 4 FR

1]
B&EES [EE-3 A iR LFEYNR
1 1. [58<ZF 585 I(Strongly Agree) 584 4 34
2 2. 12585 1(Agree) 523 3
3 3. 25 B 7Ly I(Disagree) 76 2
4 4. TFE>1={Z5 B H7ELV(Strongly Disagree) 17 1
&t 1,200

20 : 120 HEfITEST BEDEAFIXFEYLEED TLI=H . Q20 The way of proceedings was appropriate for
vou. [ BIRAK: 4 FR 1]

BEES EE A# s | £2FFYHR
1 1. [38<Z 525 I(Strongly Agree) 536 4 34
2 2. TZ585 I(Agree ) 567 3
3 3. [Z5 B4 |(Disagree) 83 2
4 4. [F-51={F5BH7:0\I(Strongly Disagree) 13 1
At 1,199

21 : 121 HEF=I2EST BEZEKENEDTLI=D. Q21 The course was interesting for you. [ IR : 4 F

1]
BEES EES AE s | £2FFYHR
1 1. [58<Z 585 I(Strongly Agree) 602 4 3.4
2 2. 12585 (Agree ) 509 3
3 3. I Z5B H%iL v |(Disagree) 68 2
4 4. [F-51={F5BH7:L\I(Strongly Disagree)4 21 1
A&t 1,200

22 : {22 BEITHITIHEOREEZELELI=D. Q22 You fe

It the lecturer’ s sincerity in the course. [ B :

4EFR 1]
HEES EES A# s | £2FFYHR
1 1. T58<Z 585 I(Strongly Agree) 672 4 35
2 2. TZ585 1(Agree ) 467 3
3 3. [Z5B 7L\ [(Disagree) 46 )
4 4. [F->1={F5BH70\I(Strongly Disagree) 14 1
A&t 1,199

23 : (23 LEMICHIELT, COBEITHRLELI=D . Q23 Comprehensively evaluating, you were satisfied
with the course [ IR : 4 FEIR 1]

BEES B AE LRl LEEHR
1 1. [58<Z 585 I(Strongly Agree) 589 4 3.4
2 2. TZ2585 (Agree ) 530 3
3 3. [Z5B 7L\ [(Disagree) 62 )
4 4. T FE>71={F5 B 7%\ I(Strongly Disagree) 20 1
A&t 1,201




